Lesson 2-4 Adding & Subtracting with Scientific Notation Date

Objective: I can add and subtract very small and very large numbers in scientific notation.

Warm Up: Simplify each expression
-3 9 A S 9.9 x 1011
1. (1.1x1073)(2.5 x 107) M 2. 2

L7
2775 %10 q %107
3. Can we simplify the following expressions? [Just answer Yes or Noj
(a) 2x% +3x (b) 4x —|x (c) x? +3x%+7x
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Steps for Adding and Subtracting with Scientific Notation - 3
s m—sem——— 38x10 36x 10

. Look to see if the EXDONENYS, are th ’
ok to see e are the SAME, + g}xmz + 087x10

(If they are, skip to step 3) 457 Xf&:
. If the exponents are different, move the decimal point in é ﬁ
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coefficient to change the exponent. __l_-_;_._A_ g-s- final answ. |

a) If you moved the decimal to the left, BDD the exponent
b) If you moved the decimal to the right, 5u &; gﬁ‘(_: i the exponent.

. Add or subtract the coefficients. Keep the power of 10.
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4~ Check to malke suUre your answer 1s in Scientific Notation; i it’s not, convert i
% \araer exporawnt! dd2, e+ 2.
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Exercise 1- Find the sum: 5 ~2
3 3 arme 3 S
a. (VZ‘E x 10°) + (3.\9 X .1_‘%) ox Nﬂf‘. b.%Bl x 10%) + (7.913 x 10°)

( 3| ADD and (.04g1 x10)+(1.413 A 10°)
q-z r lO Keggwer! W"S \
| 7.901 ~ B

Exercise 2- Find the difference: 2 £
a. (6.1x10%) —&43 x 10%) b. (7.61 x 10%) .—5_2/87 x 10%)
'+ b
Lol x DY) —(.0243 » 107 ('zmx:o")—(.oza’lxio)

[G.o157 *107) (75813 = 107)
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Exercise 3-Evalute the following expression: (6,3 X 10§‘)r + 2 700 000 ) + 2 .-L-" O

3.33

| 2.23 > \o‘ﬂ

LA.RS

Problem Set: N _ 5\
1) (738 x 10°) — (1,61 X 107) 2) (841 103) +(9.71 x 10%)
Ablxjo8 -71.289 .+ x ot
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3) (1263 X 10 (1525 X 107) a) 285X 107) + (161 x 107
Zg‘&szs =107 (0285 »I10")

LI.24775 b IOQJ [.L3BS = IDQJ

5. In 2018, the US had a Gross Domestic Product (GDP) of 1.948 x 103, The United Kingdom had a
GDP of 2.68 x 10'2.\What were the combined GDPs of the US and the UK, in 20187
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